- Y= — Y1 Y= Y
a a Mg 5
l Q2 J:Ig 2 g
3 2 G
= A
— |0
=z [ul”) Q
<8 35 I:I%’ 2 Z
(]33 N \l‘m £2 3 IE I 5
m n m > m g m
- 8
1 I U
: LB ﬂ

=

NOOASSY1D

z

CEL]

WOOUSSY1D| WOONSSY1D

|

WOO¥SSY1D

78

L]

QYVA AVd

QISN

LA

1

NOOYSSY10

NOOQYSSYT1O

o
o 5 =|h\é | = i
(o] (] (o] (o]
= g [LN— & & & &
o 5 ] a 7] 7] 7] IEIU)
- | [ st L8 | B - 2 g g g
3 <) = fo 5] ES S ES £ ES
:[UR)(0e| R R || s e
Il I § - 1 L L L
[T w ] CLASSROOM CLASSROOM ||  CLASSROOM
o ul 2 @ o [Ca] [&] e
NNl Al e , N
3% 2 M I:I% I:Ig =4 N3 13 130 g
= m N —% i \ g
° : —T Kk Ik
I Al
; e 3 FT M 45|
2 s — 2 EI%
I I | B el &
o= 8= Q z 2 e .
R N 1 <
- : C ]
: el . T — -
3 I:Ig & & NOOYSSY10 =
173 7] — ~N
I:I ol ™ EI% 3
5 8% g g i
. Z ES — X N3
'| @
g 'g : : %
I:Ig lﬂ —— Vs C
0 /N
g § g T o o o o 81\
2 Hé 4 5 ] ’ i g & e
g ba] Q m 2 2 ] |20 5 @)
2 ES 2 e 8 8 8 8 o
a II}_l ES ES < ES X -
o =T = n L g . 3 m
== 23
-O_ﬁ
: i e

[80Z]

NOOMSSY10

[voL]

NOOYSSY1D

T

NOOMSSY10

[809]
5 [ooassvi

L]

WOOUSSYTO

NOOYSSV

[zl

WOOYSSY1D

NOOYUSSYT1O

NOOYUSSYT1O

Ozl

WOOQYSSYT1O

Czz]

NOOYSSY10

NOOUMHOM

£zl

NOOJISSY1D

NOOYSSY1D

e

71

Ni

C 1
QHVA

:

TVOINVHOIN

"Dgg 55 | .
(o] (o) =z =z
g B | ]| B
g g 2
= o ! = r h —
s Y2
o o o o g
% é 7 é M4
Ia Ha @a @a g
g g g g =



